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D22 B (2ECSAEMSE) Hgels

EUEREE(HEERZD) Heels

EU BREE(RIEES) Hgels

EUZREE(AEE2H) Heels
16. 11 4ol H#OAE

A= &H

The Chemical Database, The Department of Chemistry at the University of Akron(http://ull.chemistry.uakron.edu/erd) (4 4})

The Chemical Database, The Department of Chemistry at the University of Akron(http://ull.chemistry.uakron.edu/erd) (24 4})

National Institute of Technology and Evaluation(NITE)(http://www.safe.nite.go.jp/ghs/h18_bunrui.html)(0}. SE&/H=H)
National Institute of Technology and Evaluation(NITE)(http://www.safe.nite.go.jp/ghs/h18_bunrui.html) (8. = =& =S 8€9)
National Institute of Technology and Evaluation(NITE)(http://www.safe.nite.go.jp/ghs/h18_bunrui.html)(3t. SI1&})

EXE B0 B2 SX0 28 HARHIE. SII1LE)
National Institute of Technology and Evaluation(NITE)(http://www.safe.nite.go.jp/ghs/h18_bunrui.html)(5t. 81 S)

National Institute of Technology and Evaluation(NITE)(http://www.safe.nite.go.jp/ghs/h18_bunrui.html)(O1. n-SEtS/S 281 H = (Kow))

The Chemical Database, The Department of Chemistry at the University of Akron(http://ull.chemistry.uakron.edu/erd)(e1. & &)

ChemIDplus(0f. EXH&)

Corporate Solution From Thomson Micromedex(http://csi.micromedex.com)(& )
Corporate Solution From Thomson Micromedex(http://csi.micromedex.com) (

Corporate Solution From Thomson Micromedex(http://csi.micromedex.com) (Alst =& & L= XH=24)

The ECOTOXicology database (ECOTOX)(http://cfpub.epa.gov/ECOTOX/quick_guery.htm)(0 &)
ECOTOX(2Z2R)

National Institute of Technology and Evaluation(NITE)(http://www.safe.nite.go.jp/ghs/h18_bunrui.htm) (& F &)

Quantitative Structure Activity Relation(QSAR) (5= 4)

L E=&8Y 2021-12-29
Ch.HES = 2 2SS HELR

HE R = 3

ZE NEL X 0
ch. JIEt

O ZME SHAYUEAXZ(MDS) = et M EASEA M=k MSDSE &tasto] HE, A& det Azt
















